Séquence de Nombres Linéaires (G)

Remplissez les nombres qui manquent de chaque nombre linéaire.

! ! !
289

489 539 589 689
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
914 839 689 539 464
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
888 908 948
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
668 443 368 293
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
482 532 582 632 682
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
565 715 790
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
852 827 802 752 702 677
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
345 495 795 945

Différence commune:
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Séquence de Nombres Linéaires (G) Réponses

Remplissez les nombres qui manquent de chaque nombre linéaire.

! ! !
289 339 389

489 589 639 689 739
Différence commune: 50
I I I I I I I I I I
989 914 839 764 689 614 539 464 389 314
Différence commune: -75
| | | | | | | | | |
| | | | | | | | | |
888 898 908 918 928 938 948 958 968 978
Différence commune: 10
I I I I I I I I I I
968 893 818 743 668 593 518 443 368 293
Différence commune: -75
| | | | | | | | | |
| | | | | | | | | |
482 532 582 632 682 732 782 832 882 932
Différence commune: 50
I I I I I I I I I I
265 340 415 490 565 640 715 790 865 940
Différence commune: 75
| | | | | | | | | |
| | | | | | | | | |
877 852 827 802 777 752 727 702 677 652
Différence commune: -25
| | | | | | | | | |
| | | | | | | | | |
270 345 420 495 570 645 720 795 870 945
Différence commune: 75
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